U\ﬂ\a\ W \IH

Sx =3l

MeaN

STANDARD DE\/IMION’/ffx éfx /“15 (

X2 Mean=2x = 31 = S:181
n ¢
49
6 STANDARD DEVIATION = % _ [ £x -
9 7 n
%6 = |17l — /31 \* 13437
36 2 ; >
2
d Variance = ($0) = (1-3437)
x>z 71 -[sess
| X% , 0 | \ lq |q l
<f = 100
fx o S So | 180 |Zfx=235
gx* | o | T | 100 | SHo |Zfx"= 84S
Zfx WS = 23S
<f X2

IOD




= 0- 7630

VARIANCE = (SD) = (o-‘?wv)t= 0-927S.

w? 2S 6L S yX-YAY
Mid(X) S 2§ ys

if' = 80

£x Zoo TSo ySo <fx= 1400
£x* 100D 18750 20250  [Z{x*- Hoooo
MEeAN = ﬁfx = |Ye0 = 175

é{ 5o
STanp AR peviatipn= |21 = [ 2fx N = [fewo — /e
é-{— Zf 2o 8o
= 13919y

VAR ance = ($0) = (/3-?/?4)2 NEREY

= [x® 7’: %fx)z




=0y Zpx) =1
LPE [ 0L 0-§ 0-3 12 E(X)=2-§
2P| 02 V-6 0-9 4% E(x*)= 1-S

) o2 +p+ol+0-3 =1
pP= 0.4

1) EXPECTED VALUE OF X = MEAN = E(X)
Efx) = =[xP] = Q-8

3 expecren viuse oF xt=e()= Z[ P9 <1F

- A e -[ew)?
J1s-(25)"
= (180

S)  VARIANCE = (SD) = (180" - |.2§

4)  STANDARD DEVIAT IoN

—



STAND ARD DEVIATION

RAW DATA FRERUENCLY PROBABILITY

TARLE I ARLES

Cp = S _ \L Sp = /éfﬂtz_/ N 5D;JECX")—-[ ]z
i ('// J % ky m%w
’—p:{e-g‘!'\

Meown




